[ e ]

RO % KL 752 X,
(1) (x=3)+(x+3)(x—3)+3x

(2) —4(a+1)+ (a+1)°
3) c=3)x+3)+x(x—7)+B—x)(x+1)
(4) 2a* —4ab — 2bc + ac
(5) b*—4ac+ 2b(a—c)

BRE
(1) (x—3)2+(x+3)(x—3)+3x (4) 2a? —4ab — 2bc + ac
=x2—6x+9+x%—-9+3x = 2a(a — 2b) + c(a — 2b)
=2x% —3x = (a—2b)(2a +c)
=x(2x —3)

(5)  b% —4ac + 2b(a—c)
(2) —4(a+1)+ (a+1)3 =b(2a +b) — 2c(2a + b)
= (2a+ b)(b = 2¢)

a+1=MLF3%¢

= —4M + M3

= M(M? —4)

=MM +2)(M - 2) )
=(a+D(a+3)(a—-1) a?gg;gzm

B) (x=3)x+3)+x(x—7)+@B—-x)(x+1)
=x?>—94+x2—Tx—x*>+2x+3
=x2—-5x—6

=x—-6)(x+1)




